—— A
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
2X: X
HM: H¥=2HAH (22X W)
S RS e ITIES ) (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Ei HRE2
£ Xl vt 29,810,920 27,748,619 2,062,301
= 21,595,137
g 815,500
Al 4,263,142
- 3,137,141
HHSAAY (2N D) 208,325 163,873 44,452
= 49,374
Al 24687
- 134,264
ol (=X 1) 162,790 116,745 46,045
= 49,374
Al 24,687
- 88,729
QA SAY| (S AL 2EIAF 21 HHl XIY) 118,487 116,745 1,742
2 49,374
Al 24,687
2 44,426
101 e1214| 118,487 116,745 1,742
= 49,374
Al 24,687
2 44,426
03 RIHAIERE 4 96,583 116,745 £20,162
OSEAtdl 22l AF 96,583
-Jl2s 1,574,230 «3H 128 56,673
= 28,337
Al 14,168
- 14,168
— g Al 110,000 »3H «12& 3,960
= 1,980
Al 990
- 990
— =&0H| 93,500& *3H x 128 3,366
= 1,683
Al 842
- 841
— 282 221,630& »3Y¥ x12& 7,979
= 3,989
Al 1,995
- 1,995
—Alz2tez2exd
8,060 x1.5%30A| 2F*3H x12& 13,058
= 2,433
Al 1,216
- 9,409
—xigasse 8,060 x8A| 2F*3H «8! 1,548
—JEay 67,0002 x2% x 128 1,608
— HAE S| 1,013,500 *3H «23] 6,081
— A2 1,154,700 x2H 2,310
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SN =D
M HH2IZH(SX)
¢hel: JFE2FH (S X 1) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 21,904 0 21,904
OSEAreil 22l At A el 21,904
—Jlzs 2,070,500& »1H +83 16,564
= 8,282
Al 4,141
= 4,141
— Al2tel < 147,500 »1H 83 1,180
= 590
Al 295
- 295
— ==l 120, 0002 * 1% +8 960
= 480
Al 240
T 240
—S8= 205,000 »1H 82 1,640
= 820
Al 410
= 410
—EASHEES 195,000 »1H +8& 1,560
= 780
Al 390
T 390
olaz2gyl (s Xl 44,303 0 44,303
101 14 Hl 44,303 0 44,303
03 RIAHAZZ N E =+ 44,303 0 44,303
OSE A2l AHCXEA) 44,303
—Jl=s 2,146, 7403 x1H x 123 25,761
— =4 140,000 x1H x 123 1,680
— =0l 120,000& «1H 128 1,440
—BE= 298,560 x 18 128 3,583
— AZtel=Z 10,940 *1.5%30AI 2t x1H « 123 5,908
— RS 10,9403 *8A| 21«8 701
- &= 60,000 x1H » 122 720
— BE S0t 1,288,040& 1 »23| 2,577
— 324 1,932,060%1H 1,933
2 ZH (=X ) 45,535 47,128 A 1,593
Jl2dyl(sX1) 45,535 47,128 A 1,593
201 LBH2d| 23,638 24,568 A 930
01 At 2t 2l 23,638 24,568 A 930
OFRN2ILE==EH| 9,218,000 x95% 8,758
OJlegex=dE20 A 14,880
— LA 8,000 «25% »53| «12& 12,000
— JIEtH 8,000 x6H 53| x 128 2,880
202 Odl 17,280 18,000 AT20




fM: SX
HE: HY2IFH (=AD)
el JI=23H(SX) cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 17,280 18,000 AT20
OJlegs 60,0003 x24Y «128 17,280
203 YR =2t 4,617 4,560 57
04 2N2EY 4,617 4,560 57
ORNEEZ 405,000& 123 *95% 4,617
SJteE2el ¥ X& 2,070,885 , 199,472 A 128,587
Al 936,600
- 1,134,285
FERI N KA 1,831,100 ,832,600 A 1,500
Al 936,600
T 894,500
HFESI3A XA 1,214,700 ,294,200 279,500
Al 748,200
- 466,500
301 LeEBAF 1,214,700 ,294,200 279,500
Al 748,200
- 466,500
01 MI28E+06l= 1,214,700 ,294,200 AT79,500
OFEEREX 130,000& 770K x12& 1,201,200
Al 739,200
T 462,000
ORI At 300,000& »45H 13,500
Al 9,000
- 4,500
04T X 616,400 538,400 78,000
Al 188,400
- 428,000
301 LA F 616,400 538,400 78,000
Al 188,400
T 428,000
01 A2 & X 616,400 538,400 78,000
OFSE-—-Svag= 100,000& 85 »12& 102,000
Al 51,000
T 51,000
OBgH<= 80,000 *355% x12& 340,800
Al 127,800
- 213,000
SELE- o
100,000& x16H «12& 19,200
Al 9,600
- 9,600
O=3JtE= MERZ23  200,000&«12YH 2,400
SEPIT AYETLY
0,000& *1,200H »23| 120,000
O=2It8 = AEE NS
20,0003 800 *23| 32,000
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fM: SX
¥y 2)pPEzel L Y
el BEND 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2832 2 61,185 173,172 A 111,987
e 29 61,185 173,172 A 111,987
201 Let24d] 36,346 36,250 96
01 At 22/l 3,666 3,570 96
odldl gxt= 19,000& 120 12& 2,736
O&=J Xz 38,000 128 456
OE&3l& CCTV & Xl 474,000& 474
02 =224l 32,680 32,680 0
03323 2 HA 31,680
—stes 90,000& *x12& 1,080
—dIRe3 2,400,000& x12& 28,800
— 4ot R=3 90,000& +x12& 1,080
—tAR3 60,0003 x12& 720
OA&ZEHl S X bl 1,000,000 1,000
308 XX EHH SOl A 24,839 26,435 A 1,596
11 3J2SoHUHSI S HAE ALS HI 24,839 26,435 A 1,596
O&sslz2 29 2l 24,839,000& 24,839
24 XA 175,600 170,200 5,400
E28HHd A& 175,600 170,200 5,400
307 gl2tol & 175,600 170,200 5,400
02 It M AHE L 50,000 50,000 0
OEsd2dAg X 50,000,000& 50,000
03 A EE2HHIES 125,600 120,200 5,400
OLsHHd 294l XN& 125,600, 000& 125,600
SESAE 2tel 3,000 23,500 220,500
SEAE 2el 3,000 23,500 A 20,500
201 Let2d] 3,000 1,500 1,500
02 =224l 3,000 1,500 1,500
OUOlH B2 S& S E2AM ALBLKK
| 3,000,000& 3,000
& =EX0I8 2= 3,704,873 3,697,219 7,654
= 376,634
s 815,500
Al 1,543,269
- 969,470
HASE 92 & SHIA 52,784 333,795 A 281,011
Al 28,409
T 24,375
HAsEE 92 € BE8EHM N2 11,375 11,375 0
201 LBt 5,920 7,560 A 1,640




fM: SX
HH: ME =2X0Y 1S
S HASE 912 ¥ AN CERED
= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 5,920 7,560 A 1,640
Os=3etE28Z g 5,920,000& 5,920
203 YR =2t 2,375 2,375 0
03 Al =AY R =& 2,375 2,375 0
ONAS 2 £2HE P2=
2,500,000 x95% 2,375
301 LA S 3,080 1,440 1,640
09 HALAHIXI &3 3,080 1,440 1,640
Os=¢=28% Y (F0WHA SA4Hl)
3,080,000& 3,080
S=EEES g A 13,000 13,000 0
201 Let24E] 4,000 4,000 0
03 & Ar2 Z I 4,000 4,000 0
O=s=E2&2 € AL&HA 4,000,000& 4,000
301 LA F 9,000 9,000 0
09 #HALAHIXI &3 9,000 9,000 0
OSIEBE9 E At At 9,000,000& 9,000
FHAHS BHXGHHF=ANU &3 K& EXA 26,400 0 26,400
Al 26,400
301 LEd = 26,400 0 26,400
Al 26,400
01 Ml2ZE 6= 26,400 0 26,400
OFAANES SXSHAFHMU SSINXNEASE
26,400,000 26,400
Al 26,400
MAaSEst WsH XA FAIe=" 12| 2,009 0 2,009
Al 2,009
101 @124 4] 2,009 0 2,009
Al 2,009
04 JIZHHZ2Z2XNSE S+ 2,009 0 2,009
OMASE s NJAAE JAleE o1 A
=l 2,009,000 2,009
Al 2,009
NE=X g8dA 25 1,424,794 1,424,422 372
s 815,500
Al 177,660
- 431,634
NEASISZAE =8 53,920 3,920 50,000
201 Let2d] 2,400 2,400 0
01 At 2teltl 2,400 2,400 0
OX<S At 2 H & 2T+ H&
15,000& *80F x23] 2,400
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2N SN
Hu: MF 22X 7S

Sl NS EAMA PE CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
203 R F & 1,520 1,520 0
03 AIZH =X 2= X H| 1,520 1,520 0
OMASE EXNAYE =& 1,600,000 *95% 1,520
308 XHXIGHH SO0l & 50,000 0 50,000
11 BI2SHUSEANRE AISH 50,000 0 50,000
OHMBI NGAMIEBEHAE =8 AP2sA
50,000,000 50,000
A 2NN Z2FRE Sk 14,040 14,040 0
201 LBt Y| 14,040 14,040 0]
01 AP 22| d| 3,000 3,000 0
OAZEXNZ22E g2l 3,000,000 3,000
02 332%H| 11,040 11,040 0
OZ2222 ¥ HA 11,040
—0lsS&d3I MES 40,000 *30 12 1,440
~#=es SNM PHLSE
800,000 x12& 9,600
KNAXEY ASIAHA EXNAMB(BX)(ME) (XA A 1,160,000 1,209,642 N49,642
3|)
= 812,000
Al 174,000
- 174,000
307 2Iz2to| A 1,160,000 1,209,642 N49,642
= 812,000
Al 174,000
- 174,000
05 QIZ2tREF 2 1,160,000 1,209,642 N49,642
OXDAS ABIAE XA 1,160,000,000& 1,160,000
Fag 812,000
Al 174,000
- 174,000
KNAXEE ASIAHA EXNAMS(BX)(ME) (XA A 5,000 5,000 0
32al)
g 3,500
Al 750
- 750
201 Bt 4,720 4,720 0
= 3,304
Al 708
- 708
01 AP 22| H| 4,720 4,720 0
OXEAMIMBIAETAY 2HHl 4,500,000 4,500
Fag 3,150
Al 675
5 675




2N
DEd =EX0Ie 25

el

X ZH
S =

=X

A=A g8 dH 25

SAH-EB .S (3H) - HEAY - BE2 il HDS2
OXNAAMSMEBIAETAIYE H3I12 W=
220,000 220
as 154
Al 33
- 33
301 et X Z 280 280 0
as 196
Al 42
2 42
09 HALAHIXI &= 280 280 0
OXNYGAMIMBIAEXAIY M2 g
Hl 8,000& x35H 280
as 196
Al 42
- 42
NEAEEHAN 29 117,084 101,340 15,744
203 AR =X 1,900 1,900 0
03 A=A R =AH| 1,900 1,900 0
OF0MEt2A Al FA 2,000,000& *95% 1,900
307 21240 ® 115,184 99,440 15,744
11 A SAAEE X 115,184 99,440 15,744
OXNGAMIBEE2AM 29 K& 115,184
—S=&8& oAb 45,534,000& 45,534
ox 294l 2,300,000 2,300
— 3o FAM&Y 15,750,000& 15,750
— 0l A=A YIS 4,700,000& 4,700
— At S X3 A 30,000,000& 30,000
—NEHERD 23 At 4,900,000 4,900
—dNXNEE HE 2,000,000 2,000
—8oH ¥ I U= 2,000,000& 2,000
—AREN L ASFRNAKAT FHL BH
8,000,000& 8,000
s NGASIEHEAN 29 50,440 63,600 A 13,160
201 et A b 13,800 31,872 N 18,072
03 SHAIS H I 13,800 31,872 A 18,072
Os 82M /& u=x 7,800,000 7,800
Os 82HM #3238 6,000,000 6,000
301 et X Z 640 31,728 A 31,088
09 HALAHIXI &= 640 1,728 A 1,088
Os 82M /235 S| 8,000& x80H 640
307 QI2t0| M 36,000 0 36,000
11 AMSXNAEEXR 36,000 0 36,000




2N
X ZH -
L= B

el

=7
HE =X S
X=X g2HH 2=

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Os 8o9M SSAY X
3,000,000 120 = 36,000
NEEINANE 29 5,000 8,000 A 3,000
201 gBt24y| 5,000 8,000 A 3,000
01 AP 2t 2| H| 5,000 8,000 A 3,000
OXEXaHe N M2 5,000,000& 5,000
MIISXAIE SAX XA 19,310 18,880 430
Al 2,910
- 16,400
201 LBt | 14,000 14,000 0
03 A2 HI 14,000 14,000 0
OMIIEXAIESAIAN IS W=
14,000,000 14,000
301 et A =2 2,400 2,160 240
09 SHAIAHI X & 2 2,400 2,160 240
OAMBI2XNANEESAMXN RIS S|
8,000 x300H 2,400
307 2iz2to| A 2,910 2,720 190
Al 2,910
06 22 2,910 2,720 190
OAMBI=2XANEESAX MoHEE XS
2,910,000& 2,910
Al 2,910
At 22| X 112,800 112,800 0
= 76,560
Al 18,120
- 18,120
ANZF SeAtd 22l A& 12,000 12,000 0
= 6,000
Al 3,000
- 3,000
201 gBt2A | 6,000 8,400 A2,400
= 3,000
Al 1,500
- 1,500
01 AP 2t 2| H| 6,000 8,400 AN2,400
OAtdl &2l 29| 6,000,000& 6,000
= 3,000
Al 1,500
5 1,500
301 et A =2 6,000 3,600 2,400
= 3,000
Al 1,500
- 1,500
01 Al B & A 46 2 6,000 3,600 2,400




DAE =X RS
DA N

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OAtedl 2tel CHaRE SXIAMBlA XI& b
6,000,000& 6,000
2 3,000
Al 1,500
T 1,500
XEE SFAMH A X 100,800 100,800
= 70,560
Al 15,120
- 15,120
2 et Al 70,560 50,400 20,160
= 49,392
Al 10,584
- 10,584
AFS 2t 2l Hl 70,560 50,400 20,
O Atell2el 293l 70,560,000& 70,560
= 49,392
Al 10,584
- 10,584
ALIENZ 30,240 50,400 A 20,
= 21,168
Al 4,536
T 4,536
A EFE 0= 30,240 50,400 A 20,
OS AtdflZe| tHaXt SXIMH A Xl
30,240,000& 30,240
= 21,168
Al 4,536
- 4,536
NDAS ESHAHTRS 8,150 13,200 A5,
Al 4,950
T 3,200
sH0=2XB0I2E 3,200 13,200 A 10,
2Bt | 3,200 13,200 A10,
AtS 22l 2,000 12,000 210,
ool=X20 g8 2¢ 2,000
—E22tliE MHE 5,000& #4005 2,000
HALZ FHI 1,200 1,200
O0IZX&Eol u= 300,000& *43] 1,200
S LSA ZelAAg 2= 4,950 0 4,
Al 4,950
BIZHOI M 4,950 0 4,
Al 4,950
A2 S XA 82 & 4,950 0 4,
OFAAHE DA 22lAIAE K&
110,000& =459 4,950
Al 4,950




M =2
M MA =X 0P PE

e Al EX2 29 (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
MNIEX2 29 2,084,345 1,793,002 291,343
= 300,074
Al 1,292,130
- 492,141
M EXNS 29 831,894 762,181 69,713
Al 831,894
307 2Iz2t0| & 831,894 762,181 69,713
Al 831,894
10 M SXANEEHESIHEX 831,894 762,181 69,713
OH0IJIL=e A3 2R 29X 827,494
— AFS 2 X 2 2124 H| 712,390,000& 712,390
Al 712,390
— A3 EX S 2| 56,652,000 56,652
Al 56,652
—AMIEXN T2 22 H| 58,452,000 58,452
Al 58,452
OHOIJILESEASEXNZ SAL S XN E >
2,600,000& 2,600
Al 2,600
OMODILSEASI =SB AL AL BT
1,800,000 1,800
Al 1,800
AEZ2LENNHEH 29X 695,360 519,170 176, 190
Al 349,105
5 346,255
307 QI2t0| ™ 695,360 518,680 176,680
Al 349,105
5 346,255
10 A SXNANEEHESIGH EX 695,360 518,680 176,680
OEsZ22Z=XNMEH 29 NS 692,510
— gz 22X 4HE 22| 464,436,000 464,436
Al 232,218
- 232,218
—g9EZZ2ZEXHE 29| 98,074,000 98,074
Al 49,037
- 49,037
—gEz22A=2NHMdH T2 29|
130,000,000 130,000
Al 65,000
- 65,000
OEEZ2LEXNHE SALN EXES
1,650,000 1,650
Al 1,650
OYEIL=NME EAX 2BAAY
1,200,000 1,200
Al 1,200
ZCU A K& 57,310 57,302 8




M =2
Hu: MF =X PE

SN BB (HA) - MM - BES il HREZ

Al 28,730
T 28,580

307 21201 & 57,310 57,302 8
Al 28,730
- 28,580

11T M SXASEEX 57,310 57,302 8
OFSYWIaAMY X3 57,160
— QI 2| 35,000,000& 35,000
Al 17,500
T 17,500
— 23| 22,160,000& 22,160
Al 11,080
- 11,080
OFCEdY ML =XNE= 150,000& 150
Al 150

FEORIAE XI& 131,331 86,138 45,193
Al 82,401
T 48,930

307 21201 & 131,331 86,138 45,193
Al 82,401
T 48,930

11T M SXASE EX 131,331 86,138 45,193
OZCOAE XI& 97,860
— Q12| 44,000,000 44,000
Al 22,000
- 22,000
— 2%l 53,860,000 53,860
Al 26,930
7 26,930
OYSFE0 ALY el 2t 33,071,000& 33,071
Al 33,071
OFED BAR =SXE = 200,000& 200
Al 200
OFLE0r3l AR AZ2H&d XI& 200,000 200
Al 200

ASERHE X (MEEXAIE) 368,450 350,611 17,839
= 300,074
- 68,376

301 LeEAF 368,450 350,611 17,839
= 300,074
T 68,376

0B A ERRAELS 368,450 350,611 17,839
OMI=RR3 243 368,450
— M EXZ0F =S¢ 265,813,000& 265,813
= 265,813
— A =X E20F BEH| 27,113,000& 27,113




A5
X FH -
o Tt

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 27,113
— Al =X 20k TISHI 7,148,000 7,148
= 7,148
— A =X Z0F SAHI
7,000 #37Hx22U «12& 68,376
ZO0tdt= SR MHIA 22,000 20,000 2,000
Al 22,000
ROHt= MEMHIA 22,000 20,000 2,000
Al 22,000
307 glz2+ol & 22,000 20,000 2,000
Al 22,000
11T MISRASEX 22,000 20,000 2,000
O&0It= MEAMEA 22,000,000 22,000
Al 22,000
I ZHEBHHNES W 29 16,503,094 15,516,906 986, 188
= 14,689,129
Al 1,241,311
- 572,654
IZMEEE20H X 15,762,211 14,935,922 826,289
= 14,164,949
Al 1,095,788
- 501,474
Hed kb K& 12,900 9,900 3,000
301 LA S 12,900 9,900 3,000
01 MEIBEE 263 12,900 9,900 3,000
ORcD dHAMDTA ZAHU 800,000& 15 12,000
Ol Al & Heul 15,000& 6024 900
MH =N 15,476,323 14,669, 118 807,205
= 13,928,690
Al 1,083,343
T 464,290
301 LEXS 15,476,323 14,669, 118 807,205
= 13,928,690
Al 1,083,343
T 464,290
01 MEIBEZE 05z 15,476,323 14,669, 118 807,205
OdA SN 15,476,323,000& 15,476,323
= 13,928,690
Al 1,083,343
- 464,290
mE=g= 18,010 18,193 A 183
308 XX EHH SOl A 18,010 18,193 A 183
08 I 20UEE=x 18,010 18,193 A 183
Ou=ss0( 18,010,000& 18,010




2X: X
HzM: 20| ZMEBXHTO HWa 29
Sel JZMBRIIO K CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[SRNESPS =2 177,779 176,703 1,076
= 160,001
Al 12,445
- 5,333
301 et A= 177,779 176,703 1,076
= 160,001
Al 12,445
- 5,333
01 AR E & A 462 177,779 176,703 1,076
Odld&EH =20 177,779,000 177,779
= 160,001
Al 12,445
5 5,333
d222e|d X 76,258 61,000 15,258
= 76,258
301 et A =2 76,258 61,000 15,258
= 76,258
01 Al E& X 462 76,258 61,000 15,258
oxga=22e|d Ad 76,258,000 76,258
= 76,258
IZ=MEESHMNE =8 941 1,008 a4
201 et d9d| 941 1,008 a4
01 AP 2t 2] H| 941 1,008 a4
OJI=MEgXddR 2 D2 SHES
6,400 63| x12& 461
A2E OsdS MES 40,000 x12& 480
222X XN& 740,883 580,984 159,899
= 524,180
Al 145,523
- 71,180
222X XNEAS 655,226 495,100 160, 126
= 524,180
Al 65,523
- 65,523
301 LBt A= 655,226 495,100 160, 126
= 524,180
Al 65,523
- 65,523
01 Al E & A 452 655,226 495,100 160, 126
O 22X XNEAY 655,226,000 655,226
= 524,180
Al 65,523
- 65,523
22X 1290|=s8 29 5,657 5,884 N227
201 2Et24y| 5,657 5,884 N 227




fM: SX
M JPIZMEETIHEZ LA 29
el 2==X KA (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 4,157 4,384 A 227
O2UsSXd 129018t SUE AES
33,0002 12 396
O2sXd 1290|stt 2EH ¢ 24|
500,000& 500
ORSNAEHAS BFHLY
70,000& x10H x43 2,800
OfA210t= &2 & 480 OHE D52 S
=3 6,400& 63| x12& 461
02 =224l 1,500 1,500 0
OX&Es A2l 1,500,000 =1 CH 1,500
SO0S EXNAUTUE ALY 80,000 80,000 0
Al 80,000
301 LA S 80,000 80,000 0
Al 80,000
01 MEIBEE 2063 80,000 80,000 0
OS0S EXNGHHHAE ALY 80,000,000& 80,000
Al 80,000
MNASE FAHAE X 7,224,000 6,053,769 1,170,231
= 6,480,000
Al 516,000
- 228,000
FAHA=EKX AL 7,224,000 6,053,769 1,170,231
= 6,480,000
Al 516,000
- 228,000
FH=0W XA 7,200,000 6,018,769 1,181,231
= 6,480,000
Al 504,000
- 216,000
301 LeIEBAF 6,660,000 5,514,769 1,145,231
= 5,994,000
Al 466,200
- 199,800
01 AR 2Z A5 3 6,660,000 5,514,769 1,145,231
OFAHsS0W N& 6,660,000, 000& 6,660,000
= 5,994,000
Al 466,200
T 199,800
403 XM SA=0l& 540,000 504,000 36,000
= 486,000
Al 37,800
- 16,200
02 S 2SO0 HE A2 X &AL H 540,000 504,000 36,000
Ox=6dRX=H 540,000,000& 540,000
= 486,000




fM: SX
M HASE FHUE K&
&S FHEX ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 37,800
T 16,200
SALUOIHEHX SsHIIRS XNE AHY 4,000 5,000 A 1,000
Al 2,000
- 2,000
307 glz2tol & 4,000 5,000 A 1,000
Al 2,000
- 2,000
11T M SRAISE EX 4,000 5,000 A1,000
OSFLUOLMEHI SSTIRS XE MY
4,000,000& 4,000
Al 2,000
- 2,000
NAS HFojel==& BoAld 4X XN& MG 20,000 30,000 A 10,000
Al 10,000
- 10,000
403 A X EHHSH20IA 20,000 30,000 210,000
Al 10,000
- 10,000
02 SO 2SOIlCHEH A2 X 2| & A I 20,000 30,000 A 10,000
ONMAS HOQU=C BBAAL X XNF A
20,000,000 20,000
Al 10,000
- 10,000
Nas FHAAHS NS 96,550 101,326 A4, 776
Al 1,275
- 95,275
HASE A2282 XA 84,000 96,000 A 12,000
HAasE AHALE2E=E XA 84,000 96,000 A 12,000
301 LA F 84,000 96,000 A 12,000
01 MEIBEE 263 84,000 96,000 212,000
OoIZoA22E =z K& 7,000,000& x12& 84,000
Has oz2d EU XA 12,550 5,326 7,224
Al 1,275
- 11,275
Has o2 sU N (2, F2EL) 2,550 5,326 AN2,776
Al 1,275
- 1,275
307 21201 A 2,550 5,326 AN2,776
Al 1,275
- 1,275
01 222l 2,550 5,326 AN2,776
OMASE 24 EU X 2,550,000& 2,550
Al 1,275
T 1,275




fAM: =X

o HAS FHYNUB N

Sl HAS 24 SU XY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
MAS o BE2EL XNUX H=E XANE AL 10,000 0 10,000
307 2Iz2t0| A 10,000 0 10,000
01 sd =l 10,000 0 10,000
OMdAS 23 2L KNI X
10,000,000& 10,000
MEES(=2X) 3,193 16,054 N 12,861
LHEAHeH X = 3,193 16,054 N 12,861
o230 II2 S83H 82 3,193 16,054 N 12,861
701 JIEISI HSEES2 3,193 16,054 N 12,861
01 JIEISI HE =2 3,193 16,054 N 12,861
Ooz220J12 SEalH E=2 (A 12|
) 3,193,000& 3,193




